KS 40 ﬁs‘sgsﬂiigg module

Y axis

]
D =

Center of gravity

Ix: FEEXEHZIEMERE Moment of inertia along the X-axis
Iv: FTEEYERZEMERE Moment of inertia along the Y-axis

B EEfi:mm¢
BlgR Iy Iy
KS40D 3.533x10° 5.317x10¢
Ball Screw Linear Guide
RigE ?I\% " gg gé‘; Ezafilgﬁyfﬁﬁ EABEEAN ZSHFEF 755 Permissible Static Moment
Code ominal 2 RER EER Rated oad yoad {RHD Pitching Mp (N - m) {12 Deflection My (N - m) %) Rolling Mg (N - m)

ety CcOmanic Sescsutic sapr A SEEE S SEEEA BEES JEEEA1 BEEA2 JBEES1 JBEES2 JBEEA1 BEEA2 BEEST JBEES2 BEEAT SBEEA2 BEEST BEES2
N

(mm) (N)  SlideBlock A Slide Block S Slide Block A Slide Block S Slide Block A1 Slide Block A2 Slide Block S1 Slide Block 52 Slide Block A1 Slide Block A2 Slide Block S1 Slide Block 52 Slide Block A1 Slide Block A2 Slide Block S1 Slide Block S2

cowoom £ 0 1 10 224
3920 / 6468 / 33 182 / / 33 182 / / 81 162 / /
KS40D05 P s 1177 2145
(o} 1070 1950
mos | BERE BEE(HSE (mm) fTEFITE (mm) ERARLENHT (N - cm)
|| ength of Rail Repetitive Accurac Traveling Parallelism Max.Driving Torque
e — —
100
KS40D 150 +0.003 +0.01 0.01 / 1.2 0.8
200
4-M3x0.5Px4.5 DP. 2xn-@3.4THRU,#6.5x3 DP
58
5 <9
2 - (AN
2DR3DXHIE THIFE
e \&c I www.limonrobot.cn
Uy i . 5
AATA #
CR T oL = $ 4
[t o I ' |
40 I 1 a-Me.5x0.45Px45 TP a2 e _Jel |
L2 s
SECTION A-A M
49
12 25
4-M3x0.5Px6 DP A
PCD 29 10,
J r“/ ; B " y ,/ / Jel vews
:~m,é>‘ SN i 1 ®
NS a /|

{
T
05
—
—
>
#5n7

VIEW B 60 G
n 1Dx60
MEEE ==L BAITIZ (mm) 6 (mm] . =& (kg)
L2(mm)  (mm) ABEE  A2BEE ABEE  A2iBEE
100 159 36 - 20 2 0.48 -
150 209 86 34 15 3 0.6 0.67
200 259 136 84 40 3 0.72 0.79

#£: BEPIMEFTHHBIEDS, IH S LIMONEXLR,
44 #Note: The shaft diameter can be special made in ®4, pls contact LIMON.



KS&E 515
KS series module

FSIZEE FO RIS AR F1

" . 4 _8s 4-M4x0.7Px8.5 DP PCD46
14,5 4-M3x0.5Px6 DP 3.2
- PCD 29
=S| | T & [ =] £a
» = [ ;
: ° NS
At ey Al NG
18 |3 e\ — ) N2
o = L] B,
é 7
%Eﬁ%}iﬁ F2 4-M3x0.5Px6 DP '%\ \Egiiﬁ F3
49 8.3 PCD45 49 Z. 4-83.5THRU,
3.2 2,5 3 #6x35 DP
—
T ol e @ @

4-M3x0.5P_THRU

®20
22*%
me

@ &, \ é:I:_l A
4G _ u= ﬂ

<
820
308
ms
)
©
\

s
=
I

49



KSR 5IiELA

KS series module

BERE

1EPREERE o
. o
TERENE
|
| A
<
| N '
\
R a b C d e f
KS40 36.5 443 1 9.8 10.5 12
KS50 41.3 48 1 10.5 10.2 1
KS60 46.2 52.8 4 14 3.2 13
KS86 59 65.7 8 18 3 18
KS100 66 73 10 20 4.2 20
A -~ ———
s
KS40D = 4-M4x0.7Px14 DP
o 2x2-M3x0.5Px6.5 DP Z:: 2xn-9$3.4THRU,%6.5x3 DP
;? 23 ; S 2x2-M2.5x0.45Px4 DP
| L @ | 4
JAIL O & /@ e Puole==T| |
————— S Ik
@L,"j“,, " '[,,,,ngﬁ‘gg’ggij,;d@ -1
7 f [ellle] s
SECTION A-A =
L1
A 49
r— 12 25
4-M3x0.5Px6 DP 14,5
PCD 29 10 -—.ﬁ:
— | L
U A /| o '
o $@>\ . ] ] | J J & v
0170 P iy ey - :
o [ s Lo
VIEW B 60 G
(h=1>x60
NEREE Z2&kU BAITHE (mm) 6 (mml ] =& (kg)
L2(mm]  (mm) A1BEE  A2iBEE A1BEE  A2iBEE
100 159 36 - 20 2 0.55 -
150 209 86 34 15 3 0.68 0.76
200 259 136 84 40 3 0.82 0.89

55



